



$$f(x) = \frac{x^2 - 4x + 3}{x+2} + b \xrightarrow{\text{بسیار } f} f(0) = 0 \rightarrow \frac{3}{2} + b = 0 \Rightarrow b = -\frac{3}{2} \Rightarrow a = -3$$

$$\hookrightarrow f(1) = 1 \rightarrow \frac{0}{1+2} + b = 1 \Rightarrow b = 1$$

بجای این جواب ها می توان ۱-۱ و ۲ می توان ۳+۳

$$a-b = -3-1 = -4$$

$$(a-1)(a-3) + b = 9 \rightarrow b = 3$$

$$g(x) = x+2 \Leftarrow f(0) = 2, g(0) = c \Rightarrow f(0) = g(0) \Leftarrow \text{تابع } f(x), g(x) \text{ یکسان}$$

$$\Rightarrow c = 2$$

$$\xrightarrow{g(1)=f(1)} g(1) = 3 \Rightarrow a+2 = 3+b \Rightarrow a-b = 1$$

$$f(1) = \frac{a+2}{1+b}$$

$$\xrightarrow{g(-1)=f(-1)} g(-1) = 1 \Rightarrow -a+2 = b-1 \Rightarrow b+a = 3$$

$$f(-1) = \frac{-a+2}{-1+b}$$

$$\begin{cases} a+b = 1 \\ a-b = 3 \end{cases} \Rightarrow b = -1, a = 2$$

$$b+c = -1+2 = 1 \Rightarrow \boxed{1}$$

$$f(x) = \sqrt{x-3a} + k-1 \quad g(x) = \sqrt{b-x} + 3k \quad f-g = \{(1, k)\}$$

$$D_{f \cap g} = \{1\} \Rightarrow x-3a \geq 0 \Rightarrow x \geq \frac{3a}{2} \Rightarrow \frac{3a}{2} = 1 \Rightarrow a = \frac{2}{3}$$

$$\hookrightarrow b-x \geq 0 \Rightarrow \frac{b}{2} \geq x \Rightarrow \frac{b}{2} = 1 \Rightarrow b = 2$$

$$f(1)-g(1) = 2k-2-3k = k \Rightarrow k = -1$$

$$3a - \frac{b}{2} - k = 2 - 1 + 1 = 2 \Rightarrow \boxed{2}$$

$$f(x) = \sqrt{m-x} + n$$

$$D_f = 2x+2 \geq 0 \Rightarrow x \geq -1$$

$$g(x) = \sqrt{2x+2}$$

$$D_g = m-x \geq 0 \Rightarrow m \geq x \Rightarrow m = +\infty$$

$$D_{f \cap g} = [-1, 2] \rightarrow D_{f \cap g} = [-1, 2]$$

$$m+n = 1\sqrt{2-2+2} = 1\sqrt{2} = \sqrt{2}$$

$$f-g(x) = \sqrt{2}$$

$$\hookrightarrow \sqrt{m-x} + n - \sqrt{2x+2} = \sqrt{2} \Rightarrow n = 1\sqrt{2} - 2$$

$$y = (-1)^n (n - [x]) = \frac{1}{2}$$

$$\Rightarrow x - [x] = \frac{1}{2}$$

